Missing Integers within 100/-100

Name: Score:

Find the missing addends and minuends.

12 - ) =59 () + (1) = 77 18 -( )=
()+ 12 =48 14 - J=-8 [ J+(N =-
48 -( )=8 [ )- 6 =-62 -18 -( )=

46 +( ) =19 ( )+ 17 =
-(-17) = 40 28+ ( )= 9 [ )+ 50 =
46 +( )= 31 () - 45 =75 47 - ) =
-9 =21 18 -( )=-11 [ )+ 17 = -
8+ )="1 ()-D=12 18 -( )=-
( )+ = 4 18+ ( ) =34 ()-(47 =
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Answers

Find the missing addends and minuends.

12 - (47) = 59 (60) + (-11) = -77 18 - (35 = 53
60)+ 12 = 48 14 - (72) = 86 (62) + (-7) = -69
48 - (33) = 81 (56 - 6 = 62 -18 -(75) = 93
(12) - (7 = -5 28 +(18) = -10  (66)+ 5 = -6l
46 +(27) = 19 [18) + 17 = -1 42 -(20) = -62
(23) - (17) = 40 28 +(37) = 9 (25 + 50 = 25
46 + ((15) = 31 (35 - 45 = 75 47 - (47) = 94
(12) - (-9 = 21 <18 - (-7) =11 (32)+ 17 = -15
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58 + (59) = (22) - (1) = 29 -18 -(67) = -85

(33)+(37) = -4 18 +(52) = 34 -(-47) = 98



